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Vibration Transducer Interface, 2ch

A DB - 53) / ASHS
MTL5533 ([Ex ia] IIC, [Ex ia] IIC, [Ex ia] 1) / 14-KB4BO-0644

g 5 I =

o
8-SR A H2013-54%

o0 5 = A

1. H=SE

£ ol&EME 'Great Marlings, Butterfield, Bedfordshire, Luton, LU2 8DL, United Kingdom'oi|

M MASHE H 2ol sHE

2. HEML

“Vibration Transducer Interface, 2—-channel

E2EeHE 98t M7 | mi2jo|e{: chSH|olX| &=
. -AE2F2Z(Ambient Temp.): 20 T < Ta < +60 T

_|

= o] -
. QlEHel = sk

= 9o galvso| sHeto] REE

3
4. OHHSt AMES fI8t = - wts
5
6

ST, eldAil =, HEAE UL S UF e X2 2oF EF

20144 10¢€ 30¢

FP251-8 152-718 MEA| 27 C|X|E 2 262 87(TLEE) http://www ktl re kr

426-910 Z7| = QHARA| ALZ T GOt Z 723(ALE)



I(‘t I AZAU SN
Korea Testing Laboratary

M2014-037053-415(2/2)

-
2. MIEMe

JER oA

—

mjo

$/8t &7/ mjajolef

Non—-Hazardous Area Terminals 7, 8, 11, 12, 13 & 14
Um = 263 V

Hazardous Area Terminals 3 with regard to 1 (Channel 1) or 6 with regard to 4 (Channel 2)
Uo=266V, lb=94 mA, P,=066W, C=0L=0

Hazardous Area Terminals 3 with regard to 2 (Channel 1) or 6 with regard to 5 (Channel 2)
Us=1.1V, [b=011 mA, P, =003 mW, U=28V, C=0,L=0
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Group \ Co (UF) | Lo (mH) or Lo/Re (WH/R)
Hazardous Area Terminals 3 with regard to 1 or Terminals 6 with regard to 4
IIC 0.094 4.02 56
[IB* 0.73 16.09 227
A 2.42 32.19 455
| 4.27 52.81 746
Hazardous Area Terminals 3 with regard to 2 or Terminals 6 with regard to 5
IC 100 1 000 1 000
[IB* 1 000 1 000 1 000
1A 1 000 1 000 1 000
I 1 000 1 000 1 000

* Group 1B ZR2la[E{E BRA717] [Ex ia] lICOl A& 7ksSiCt.

1) flel §5} D2lolee= okl 271X =2 & si-jol sEE uf HESch

[Z2(7H0]E Hel)ol L o &80| L, @2l 1% 2t 2= of (total L < 1% of Lo)

Zz(Holg Aol ¢ 2 ol C, &2l 1% 2ot 22 o (total G < 1% of Co)
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- 2|2 3|2(#Holg M)l L o 8ol L, el 1% Ect 3AHL 22 M (total L = 1% of Lo)
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Co &2 Z20iM HE8 mf 27 3 Z2(Hols ZE)e| HmAIEA(total G + total C)= Group 1B, 1A & 12] EF
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